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Jl 40,936
04 J|2tH 2 2 Xt 40,936 40,809 127
OJI2ZtM =22 40,936,000& 40,936
Dl 40,936
201 2et2 Y| 22,600 19, 150 3,450
Dl 22,600
01 At 22l ] 22,600 19, 150 3,450
Ogbt=2H| 13,000, 000& 13,000
Jl 13,000
o=l 9,600,000 9,600
Jl 9,600
202 04 d| 4,000 8,000 A 4,000
Jl 4,000




2N s3I
BH: sAMAYs
el DEBIA MM Y VB SYURY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 = LH 4 bl 4,000 8,000 A 4,000
OOl 4,000,000& 4,000
J| 4,000
2d SAXNZHAY 16,473,000 0 16,473,000
J| 16,473,000
301 LPEAZF 16,473,000 0 16,473,000
J| 16,473,000
12 JIEtE4 3 16,473,000 0 16,473,000
OJled SAX=HAY 16,473,000, 000& 16,473,000
J| 16,473,000
EsAXEM (=022 )AL 11,817 0 11,817
J| 11,817
301 LeBAF 11,817 0 11,817
J| 11,817
12 J|EtE& = 11,817 0 11,817
Og=dAEM (=012 =)A 11,817,000 11,817
J| 11,817
ISE H S8 X2 35,000 210,000 A 175,000
< 10,500
fia 24,500
402 RI2EX=201 M 35,000 210,000 A 175,000
< 10,500
s 24,500
02 QI EAILEZ (01X S) 35,000 210,000 A 175,000
OLNEZ H |2 4 35,000,000& 35,000
< 10,500
[ia 24,500
HEH S40 MUHT SH 43,200 43,200 0
< 12,960
[ 30,240
307 21201 A 43,200 43,200 0
< 12,960
e 30,240
02 QB LA EX 43,200 43,200 0
OB E0DIMYLAHT E4 43,200,000 43,200
< 12,960
s 30,240
JEdse s KNEAMY 20,000 0 20,000
307 21201 A 20,000 0 20,000
02 It S AIHE L 20,000 0 20,000
Ored=d S=sAM XNJAE 20,000,000 20,000
dEtd BsZAAE)| 222 63,000 0 63,000
< 12,600
e 50,400
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|




2N
X ZH -
L= B

el

= _ — d =
K- ZE SR (3) - HRAY - BaS 0l &t o il HImEET
402 BI2FX=01 M 63,000 0 63,000
< 12,600
s 50,400
02 BIZ2HA= 0 63,000 0 63,000
O&&d AZI(EE) NEAY
63,000,000& 63,000
= 12,600
s 50,400
= SSIIAH OMSX M2 X2 AS 448,000 0 448,000
= 224,000
< 67,200
s 156,800
301 gt d 448,000 0 448,000
= 224,000
< 67,200
s 156,800
12 JIEtE 4 448,000 0 448,000
L= ZFR sgIIAH X2J HXXR
448,000,000 448,000
= 224,000
< 67,200
fia 156,800
HFUSHsHE 238 5,470,505 2,827,927 2,642,578
= 70,065
J| 1,518,493
< 739,727
s 3,142,220
HEH2E 13,840 11,788 2,052
201 Let249Y 7,000 7,000 0
01 At 2t 2 2,000 2,000 0
ORUE 2,000,000 2,000
023324 5,000 5,000 0
O&=21 == 823t
2,000,000& 2,000
O ela Al 8ol sl 3,000,000& 3,000
202 4l 6,840 4,788 2,052
01 = LH 4 HI 6,840 4,788 2,052
ORUEAR ¢ 6,840,000 6,840
CEEAE 0= 63,500 60,900 2,600
402 BIZ2HXH= 63,500 60,900 2,600
01 BI2EA= (KM ) 63,500 60,900 2,600
O1nx:= A=xD| 3,400,000& * 30CH * 50% 51,000
OXd= HEDI 2,000,000& = 10CH * 50% 10,000




2H: =2
=

HE: sAZMAYS
ool RANSHSH 2at CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SREIEEFIETEY)
200,000& = 2504 * 50% 2,500
DELN ANEES S4( 5) 310,000 460,000 A 150,000
402 BI2H X 20| M 310,000 460,000 A 150,000
01 SIZEXIEANSE X (M) 310,000 460,000 A 150,000
OANAEMA 22 BIIIE THBHAIAE
2,000,000& = 70= * 50% 70,000
OAMEMA (=B S)SZD| &
800,000& = 100= * 50% 40,000
Ozt ot 2 8nAH N
5002 = 800,000m = 50% 200,000
2=QIJHety CHEl 8 b= X 87,000 92,000 A5,000
307 QI2t0| ™ 50,000 70,000 A 20,000
02 QI2tAMAIE E X 50,000 70,000 A 20,000
Oz 9=sXM(Md20iol ol 92H S) X
2AASA 200,000& * 500ha * 50% 50,000
402 SI2vXHE0| & 37,000 22,000 15,000
01 SN2 AN EXR (M) 37,000 22,000 15,000
O 2EHAM I K& ALY
4,400 = 10,0000 * 50% 22,000
O==Hlcl MardsA A XS AL
30,000,000 * 50% 15,000
NEEY E28= 54 235,000 240,500 A5,500
307 QI2t0| & 220,000 221,000 A 1,000
02 AI2tAAMAIE E =X 220,000 221,000 A 1,000
Oela A=XM A 180,000,000 180,000
OLE =X XS 40,000,000 40,000
402 SI2F X201 & 15,000 19,500 A 4,500
01 BIZtXIEAYE X (KM TH ) 15,000 19,500 A 4,500
Ofse 2IR=X 30 = 1,000,0000H * 50% 15,000
EtH NESHAISEHAY 245,000 245,000 0
& 98,000
= 147,000
402 12t X0l ™ 245,000 245,000 0
= 98,000
iy 147,000
02 X2 A E X (0| THS) 245,000 245,000 0
OXSAXNEEFFHZS SHAE 245,000,000 245,000
= 98,000
= 147,000
ANELKA0NUXOIESSE AN (EZALE) 175,163 182,500 NT,337
= 70,065
= 105,098




M s3I
HE: sAZMAYS
ool RANSHSH 2at (el @2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
402 BI2FX=01 M 175,163 182,500 AT,337
= 70,065
s 105,098
02 QI EASEZ (01X ) 175,163 182,500 NT,337
OANERudUXoIEEEs (B2ZAIE)
175,163, 0003 175,163
= 70,065
s 105,098
NEE sy s4 141,000 141,000 0
402 RI2EX 20| ™ 141,000 141,000 0
01 2I2F 2 A B (RERTH ) 141,000 141,000 0
Ostz8 4EXNJALZ 132,000,000& * 50% 66,000
OstgMi s 3t=2 XA
110,000,000& = 50% 55,000
OstI M= HE X3 A
100,000& » 400% * 50% 20,000
FTAALE A &l =8 & 2e|HI X & 3,600 3,900 A 300
| 3,600
307 glz2tol & 3,600 3,900 A 300
| 3,600
02 RIZFE MM E X 3,600 3,900 A 300
OFTAALE HI & =& XI & 3,600,000 3,600
J| 3,600
TEd AEE AUMUMALE ESAY 151,500 150,000 1,500
< 45,450
[ia 106,050
402 BIZEXtE0| A 151,500 150,000 1,500
< 45,450
s 106,050
02 22t X2 AL E X (01X THE) 151,500 150,000 1,500
OHSY AEY AN MMAE 2SAY
151,500, 000& 151,500
< 45,450
[ia 106,050
A0 S (LBt 237,598 61,750 175,848
| 95,039
< 42,768
[ia 99,791
402 2I2H X201 M 237,598 61,750 175,848
| 95,039
< 42,768
e 99,791
02 RIZEXt 2 ALY (O & THA ) 237,598 61,750 175,848
OAE20 SCH3H(L8) 237,598,000 237,598
| 95,039




2H: =2
=

BH: sAMAYs
el HSHsd J3 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
== 42,768
s 99,791
e e - A8 IDAR- 116,500 116,500 0
< 34,950
s 81,550
402 2I2HXHE01 M 116,500 116,500 0
< 34,950
s 81,550
02 QI EAISEZ (01X THS) 116,500 116,500 0
Olt=-FZZMeEY XA 116,500, 000& 116,500
< 34,950
= 81,550
HA MAASE SHEALY 54,135 0 54,135
J| 21,654
< 9,744
e 22,737
402 RIZEX201 ™ 54,135 0 54,135
J| 21,654
< 9,744
e 22,737
02 LA TEALEZ(0IETHR) 54,135 0 54,135
OHA dAAlE SHHSHALS 54,135,000 54,135
J| 21,654
< 9,744
s 22,737
HANMEHAK Kot AL & A= 22 130,000 160,000 230,000
403 A X EHHS =0l A 130,000 160,000 230,000
02 SO 2SOICHEH A2 X 2 & A I 130,000 160,000 /30,000
OXot+=geTA L AAF22(E - S& - &
) 10,000,000 » ptatd 43 40,000
OLANMZ MM S X EHl
10,000,000& * 9 & 90,000
d=DSEANE SUHSHAY 335,000 275,750 59,250
J| 134,000
< 60,300
[ia 140,700
402 RIZ2EXt20l ™ 335,000 275,750 59,250
J| 134,000
< 60,300
[ia 140,700
02 2IZt 2 AL EZ (OIS ) 335,000 275,750 59,250
Ou=NEZEHANLSEUS AL 335,000,000 335,000
J| 134,000
= 60,300
i 140,700
IMXIEN SSAY 64,740 60, 136 4,604




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

M

19,422
45,318

307 21201 &

EUNL

64,740
19,422
45,318

60, 136

4,604

N
=]
S
0
0z
>
Q
HT
P

O
e
0
>~
I
0l
%
2
0K
il

64,740,000&

EUNE

64,740

64,740

19,422
45,318

60, 136

4,604

DAY TMASA

Mo

50,000

15,000
35,000

50,000

M H

50,000

15,000
35,000

50,000

02 At EAMEEE(0IATHR)
A

P X2

O
&
=
i
3
0o
0x
>

50,000,000&

UL

50,000
50,000

15,000
35,000

50,000

S

EUNL

23,500
9,400
4,230
9,870

67,097

AN43,597

402 BI2FX=01 M

S

EUNL

23,500
9,400
4,230
9,870

67,097

AN43,597

23,500,000&

S

Mo

23,500

23,500
9,400
4,230
9,870

67,097

N43,597

D HIOHE THHHAIE X (AE30 SEHA)

H X

42,000

16,800
25,200

22,000

20,000

402 212t A= 01 &

H X

42,000

16,800
25,200

22,000

20,000

(m]
S

02 A2AIL B (0 XA )

D= HIOHE THEHAIE XI&

[

O

42,000,000&

X

42,000
42,000

16,800
25,200

22,000

20,000

372,053

308,000

64,053

372,053

308,000

64,053

372,053

308,000

64,053
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2H: =2
=

HE: sAZMAYS
Sl FUSHSY s (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OXNXHL =8 82 AMY 372,052,500 372,053
E XA DB R = AN 2,476,000 0 2,476,000
J| 1,238,000
= 371,400
o 866,600
401 AlEHIZL 2 0HY| 2,476,000 0 2,476,000
J| 1,238,000
& 371,400
= 866,600
01 Al& b 2,476,000 0 2,476,000
ONACSH+UTHELY AYAY
2,476,000,000& 2,476,000
J| 1,238,000
=} 371,400
= 866,600
TEA ANERFAUSE ESXSIMEXALS 77,476 102,611 AN25,135
= 23,243
= 54,233
402 SI2FXHE0| & 77,476 102,611 N25,135
= 23,243
= 54,233
02 BIZtXIEANYEX(0OIETHHA) 77,476 102,611 N25,135
OF A AMNEJANSEE ELSHHIME XSAS
77,476,000 77,476
= 23,243
= 54,233
MAS MAD|IBE ZAHAA 15,000 30,000 A 15,000
402 SI2FXHE0| & 15,000 30,000 A 15,000
01 BIZtRIEANYE X (KM TH ) 15,000 30,000 A 15,000
O AN (AZHZ2Y) N
300,000& * 100= * 50% 15,000
Ilsd L&A JIBtXH 33,400 0 33,400
o=t 10,020
= 23,380
402 SI2FXHE0| & 33,400 0 33,400
& 10,020
= 23,380
02 CIZEXIE A EX (0| XM THL) 33,400 0 33,400
OJlsd A&AY DBt A AFY
33,400,000 33,400
& 10,020
= 23,380
U3aY HEsES g4 I 17,500 9,370 8,130
== 5,200
= 12,300
402 SI2F X201 M 17,500 9,370 8,130




2N s8I
HE: sAZMAYS
ool RANSHSH 2at (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 5,200
= 12,300
02 BIZtXIEANYEX(0OIETHH) 17,500 9,370 8,130
OlzsaY HHAES 4 XNEAY
17,500,000 17,500
& 5,200
= 12,300
SNHSMARS 5,318,350 3,073,268 2,245,082
== 590,222
= 4,728,128
SSNEEE 664,000 671,120 ANT,120
201 LBt 654,400 664,400 A 10,000
01 AP 22| H| 640,000 650,000 A 10,000
OS¢ 82 ME 20,000,000 20,000
O=SEANE ZN(SHdEE =) 600,000,000& 600,000
OsdE Bl A 2 S=Hl 10,000,000 10,000
OHAEA L EE2E &2 2
10,000,000 10,000
02 B232%H| 14,400 14,400 0
OsSNE 88 M=
50,000 * 4014 « 12€ 2,400
OsEE8 X8 K4 3,000,000 = 400 A 12,000
202 044l 9,600 6,720 2,880
01 2L I 9,600 6,720 2,880
OsiEaRsEs g2F8 gl 9,600,000& 9,600
SENMNERSKE 92,000 92,000 0
402 SI2FXHE0| M 92,000 92,000 0
01 SIZEXIEANYEXZ (MMM E) 92,000 92,000 0
OS&E38Z210x: T X
24,000,000 * 50% 12,000
O=sEd2 TN XNH 160,000,000 = 50% 80,000
s 131,000 191,000 A 60,000
307 gizto| & 100,000 100,000 0
02 QIZ2HA AAIE B X 100,000 100,000 0
Ozx=&sdet s4At2 oA 0HAHE X
100,000,000 100,000
402 SI2FXHE20| & 31,000 81,000 A 50,000
01 BIZtXIEANYE X (KM ) 31,000 81,000 A 50,000
Ox==2UasXNU XA
20 = 3,100,00000 * 50% 31,000
SANE E2ECUX SHAMY(HESAY) 511,323 628,665 N 117,342
& 153,397
= 357,926
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2N s8I
HE: sAZMAYS
S9l SUHBMURS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
402 SI2FXHE0| M 511,323 628,665 N 117,342
== 153,397
= 357,926
02 CIZEXIE A EX (0| XM THL) 511,323 628,665 N 117,342
OsitE8 =5 =4 511,323,000 511,323
= 153,397
= 357,926
=AS RO el EHOK 102,000 173,000 A71,000
201 gEt24H Y| 32,000 33,000 A 1,000
01 AP 2t 2] d| 32,000 33,000 A 1,000
OdiAlE e L ™AL X S
20,000,000 20,000
O&FNANEEH =sSNE 228 s§& HE
12,000,000 12,000
301 et A =2 60,000 60,000 0
12 JIEtE2 A= 60,000 60,000 0
OsE4&=2 A &Hidl X 50,000,000 50,000
OSH&dZ1D= 2)ie) &gl XY (D=9 sx
greiol) 10,000, 000& 10,000
307 QI2t0| ™ 10,000 80,000 70,000
02 A2t AMAIE E X 10,000 10,000 0
OSHMZINZ= MHHEH &5 X
10,000,000 10,000
HESAMS TV & 222 SS0HHE ALY 17,000 0 17,000
& 5,100
= 11,900
307 QI2t0| ™ 17,000 0 17,000
& 5,100
= 11,900
02 QI2tAAMAIE E =X 17,000 0 17,000
OBEESASE TVEAZ DIAHE ALY
17,000,000 17,000
= 5,100
= 11,900
> SAE ZTAM MEXH 150,500 0 150,500
= 45,150
= 105,350
402 SI2F X201 & 150,500 0 150,500
& 45,150
= 105,350
02 BIZtXIEANYE X (0OIETHA) 150,500 0 150,500
OF==s4AE TN HMEXS 150,500,000 150,500
& 45,150
= 105,350
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2N s3I
HE: sAZMAYS
e SUHEMMURS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SAS =E=FH N 1,025,000 657,500 367,500
< 307,500
s 717,500
301 LEd = 1,025,000 657,500 367,500
< 307,500
s 717,500
12 JIEBHE4 = 1,025,000 657,500 367,500
Os4AE =278 XA 1,025,000, 000& 1,025,000
< 307,500
= 717,500
FU=R SUHEFKSAE EXIXNA 100,000 132,500 A 32,500
402 RI2EX =20l A 100,000 132,500 A 32,500
01 U2 E2ALE X (KM R) 100,000 132,500 A 32,500
Oad M2ME1D &1 X&E
200,000,000& * 50% 100,000
SHAUXNAIE 2 X& 54,000 49,000 5,000
201 Zet24l 29,000 29,000 0
01 At 2t 2l 9,000 9,000 0
OFAld st ERSHE AIILHl HM R Y|
9,000,000& 9,000
02 =224l 20,000 20,000 0
O=gel XNFAAE ALEH |XHl
20,000,000& 20,000
401 A& HI L 201 I 20,000 20,000 0
01 A& HI 20,000 20,000 0
OsgeXJANE RIS =4I 20,000,000& 20,000
405 TtHabF S 5,000 0 5,000
01 et ESFHSHI 5,000 0 5,000
OZLTE H=TEH 4H0I2 7Y
5,000,000& 5,000
=L 23228 ZH 2dEs 29 19,000 19,000 0
< 5,700
s 13,300
307 glz2+ol & 19,000 19,000 0
< 5,700
s 13,300
02 QIZtE A AHE X 19,000 19,000 0
OsE=L 2223 ZH EdEs 29
19,000, 000& 19,000
< 5,700
e 13,300
sSeE 2t AZS(SHEEH) 2¢ 205,880 150,000 55,880
201 Zet24E] 5,880 0 5,880

_24_




2N s8I
HE: sAZMAYS
S9l SUHBMURS CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
02 2224 H| 5,880 0 5,880
OSHE&EH EHOIXA X224 5,880,000 5,880
307 QI2t0| ™ 170,000 150,000 20,000
02 QI2tAAMAIE E =X 50,000 0 50,000
OS&EEH By 243 AR 50,000,000 50,000
05 QIZ2tRE 2 120,000 150,000 A 30,000
OsdtE2 AZS(SHEH) 29 & 2eldl
120,000,000 120,000
402 BI2H X201 M 30,000 0 30,000
01 SIZEXIEANYEX (MMM A) 30,000 0 30,000
OSHE&EH UESIH Z&EMW XS
30,000,000 30,000
SitE EEYHEHH e-AZE 2FH XN 30,730 12,600 18,130
= 8,780
= 21,950
307 212t0| & 30,730 12,600 18,130
o= 8,780
= 21,950
02 QIZHE AAIRE 2 X 30,730 12,600 18,130
OsitE2 EEYHE8H e-A4E= S54H XN
30,730,000 30,730
= 8,780
= 21,950
= MHME SHXE 24,000 0 24,000
o=} 7,200
= 16,800
307 212t0| & 24,000 0 24,000
= 7,200
= 16,800
04 SIZ2HSHAAISHE E X 24,000 0 24,000
O d&sAE sS4 24,000,000 24,000
& 7,200
= 16,800
SNME MIRSAE & 78,000 0 78,000
= 23,400
= 54,600
402 SI2FXHE0| M 78,000 0 78,000
& 23,400
= 54,600
02 CIZEXIE A EX (0| XM THL) 78,000 0 78,000
OsdE AXKRSAE &X 78,000,000 78,000
& 23,400
= 54,600
=ESAZE IIISSE MESEUS X 34,317 0 34,317
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2N s3I
HE: sAZMAYS
e SUHEMMURS (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,295
s 24,022
402 RI2EX=20| A 34,317 0 34,317
< 10,295
s 24,022
02 QI EAISEZ (OIS ) 34,317 0 34,317
O+===sAE I3 ANEEU
34,317,000 34,317
< 10,295
e 24,022
stelFSHH 2N 740,000 0 740,000
401 Al HIZ 201 I 740,000 0 740,000
01 A& HI 730,000 0 730,000
Os4dsatdlssSdH ANMHED M=
650,000,000 650,000
O3ZJ| uH 80,000,000& 80,000
02 2eldl 10,000 0 10,000
OSdatflssSdH NHMHED U= 2l
10,000, 000& 10,000
SAE ZHY OHAHE XA 17,000 17,000 0
< 5,100
i 11,900
307 21201 A 17,000 17,000 0
< 5,100
e 11,900
02 LB AANGFEX 17,000 17,000 0
OsAE 2HtY OHE XA
17,000, 000& 17,000
< 5,100
[ia 11,900
s&2 &4 O E BEXNJAY 62,000 0 62,000
< 18,600
i 43,400
307 glz2+ol & 62,000 0 62,000
= 18,600
i 43,400
02 It A AHEE 62,000 0 62,000
OsttE HEad 4d0HE HEEXNEAY
62,000,000& 62,000
< 18,600
e 43,400
SEEIHAEY 700,000 148,400 551,600
307 izl & 700,000 148,400 551,600
04 QIZFHALAIH E = 700,000 148,400 551,600
OSEEAHAEY 700,000,000& 700,000
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M s3I
HE: sAZMAYS
Ol SMSMARS CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SEEXIHAEEY X2 37,900 111,483 A 73,583
201 £B-2d| 16,000 6,000 10,000
01 At 22l 16,000 6,000 10,000
OsE= M 500& * 5,000% 2,500
ORESX EEI M 100,000& = 20K 2,000
ozxg M= 8,000& = 5004 4,000
OfI”s +20I8a2ARS)
100,000& = 15 =« 43| 6,000
Osds SN =& =44 1,500,000 1,500
207 AR H| 9,900 0 9,900
01 2 E 9 9,900 0 9,900
O=HEIt 29l 9,900,000 9,900
301 LEHZ 12,000 0 12,000
12 JIEBHE4 = 12,000 0 12,000
OXNJSALA = AH 8,000& = 1,500 12,000
SHEE HE EWE 4 200,000 0 200,000
201 L2l 10,000 0 10,000
01 At 22l 10,000 0 10,000
OS&8ga =22 10,000, 000& 10,000
307 glz2+ol & 190,000 0 190,000
02 B AAHEX 100,000 0 100,000
OSHYR S48 TVELE N
25,000,000 * 400 A 100,000
04 DIZHHALALSE E X 90,000 0 90,000
Os4ga Bl = &2 90,000, 000& 90,000
SEERHAEZ WA XEAES 322,700 0 322,700
402 2I2H X201 M 322,700 0 322,700
01 2IZF 2 A B (KR ) 322,700 0 322,700
OnF Ladle X (HA 13) 28,500,000 28,500
Ost2g &4 XA (UM 13]) 150,000, 000& 150,000
Oola MR (M) NA(UHM 18])
144,200, 000& 144,200
HsHEXH 400,159 1,184,545 A 784,386
= 174,706
= 53,146
s 172,307
HsHELRFA 4,300 3,010 1,290
202 odl 4,300 3,010 1,290
01 = LH o4 1l 4,300 3,010 1,290
OAsHE S2F2A 4,300,000& 4,300
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RO

Ho

2N

<

n0

Kio

Hl w

6,348

A 157

A 157

6,505

6,505

A4

A24

A24

H3r
Wikd
RIS

24,000
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2N s3I
HE: sAZMAYS
Sel: ASAENL EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 900
s 2,100
02 IZtE M AHEE 3,000 3,000 0
OFAsHELY ¥ XNFF2 SstU=F
3,000,000& 3,000
< 900
i 2,100
ZAtHel = M i = 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 QIZFHALALH 2 = 10,000 10,000 0
Ox0lZ4HHelotE2=H 10,000, 000& 10,000
S ML= X3 ALY 10,000 0 10,000
402 RIZ2EX201 ™ 10,000 0 10,000
01 U2t EAILE X (KA ) 10,000 0 10,000
OSMML=sIH AN (S SXHM)
10,000, 000& 10,000
EANB SESI XNEAY 310,000 310,000 0
= 155,000
< 46,500
e 108,500
101 124 dl 53,000 45,000 8,000
= 26,500
= 7,950
fia 18,550
4 D12t Z2XEES 53,000 45,000 8,000
OFsHENZEEEH AIRE & & FA 22|
53,000,000& 53,000
= 26,500
< 7,950
i 18,550
201 Let24E] 61,400 118,000 A 56,600
= 30,700
< 9,210
i 21,490
01 At 22l 41,000 82,600 A 41,600
OFsHENZLE 2 AR 22l
7,600,000& 7,600
= 3,800
< 1,140
s 2,660
OFAsHE 22 NN L 5S42 7
10,000, 000& 10,000
= 5,000
< 1,500
[ia 3,500
OFsHE EEHI 23,400,000 23,400
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SN sZD
BH: sAMAYs
Sl AsAEN (B9 ®R)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 11,700
== 3,510
= 8,190
02 2224 H| 400 400 0]
OHM=sAHEXNAHYH 29 400, 000& 400
= 200
& 60
= 140
03 S AI2 H H 20,000 35,000 A 15,000
OHAsHE &3 ZOF 20,000, 000& 20,000
= 10,000
& 3,000
= 7,000
202 04| 6,000 6,000 0
= 3,000
& 900
= 2,100
01 2L Y| 6,000 6,000 0
OSANOISERK ASHE 2Es L A3 0
Hl 4,000,000 4,000
= 2,000
& 600
= 1,400
OAH=AHEC B 25 (U] 2,000,000& 2,000
= 1,000
= 300
= 700
301 et ™M= 54,800 43,000 11,800
= 27,400
o= 8,220
iy 19,180
12 JIEt2 &= 54,800 43,000 11,800
ZE20 A AOIEII (IR 48l S)
24,000, 000& 24,000
= 12,000
= 3,600
= 8,400
OH=0 HE HE XNFAS 20,000, 000& 20,000
= 10,000
& 3,000
= 7,000
OH=sHE SUHERI 29 10,800,000& 10,800
= 5,400
= 1,620
= 3,780
307 212t0| & 94,800 68,000 26,800
= 47,400
& 14,220
= 33,180
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2H: =2

HE: sAZMAYS
Sl AsAEN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 66,800 28,000 38,800
OA=el Xy & 38 10,000, 000& 10,000
= 5,000
< 1,500
[ia 3,500
OXdl=s g4dst XNIAY 6,000,000& 6,000
= 3,000
= 900
e 2,100
OitSce 20tdte 83tu= 10,000, 000& 10,000
= 5,000
= 1,500
s 3,500
E20A &0I2I(LAHFH S)
40,800,000& 40,800
= 20,400
< 6,120
s 14,280
05 BIZHRIE 3 28,000 40,000 A 12,000
OZAB X HEAH X 28,000,000& 28,000
= 14,000
< 4,200
i 9,800
402 RI2FX=20| M 40,000 30,000 10,000
= 20,000
< 6,000
s 14,000
02 QI EAILEZ (01X ) 40,000 30,000 10,000
OFsea & XEAY 40,000,000& 40,000
= 20,000
< 6,000
i 14,000
HYR2FZH (=& 1) 28,927 29,694 AT67
Jl2ddl(s& ) 28,927 29,694 AT67
JlE2&l 28,927 29,694 ANT67
201 L2l 22,327 24,414 N2,087
01 At 22l 20,285 23,264 22,979
Oggt=&H| 6,645,000& 6,645
o=l 6,920,000 6,920
OSA gtz 380,000& = 1CH = 12& 4,560
O&=D Xz 50,000& = 1CH » 12& 600
OHEEH 222 2| 1,560
-EANEH ¥ E3)
200,000 = 2CH = 33 1,200
—-FAX 120,000& = 100 = 33l 360
02 =224l 2,042 1,150 892




2N
X ZH -
L= B

el

=

i
2m

1,300,000 = 22CH * 5%
15,000,000 = 2CH * 2%
600,000& = 1CH = 2%

2,042
1,430
600

2,400

1,680

720

2,400,000

2,400
2,400

1,680

720

4,200

3,600

600

350,000& * 128

4,200
4,200

3,600

600
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